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SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Q22X S27+X ¥ X
250, 000& *1CH x603] 15,000
-SSEAH2AA A& AR
300,000 x4H x12& 14,400
-COXNE=EI dXt 132,000& ~12& 1,584
02 33249l 135,038 135,038 0
O1.2Z2222HA 110,280
-AEHASU2S 500,000 *6CH 3,000
Mol E AIESE 80,000& *8M A~ x12& 7,680
&= 650,000 *8IH A~ x12& 62,400
- e= 1,100,000& x12& 13,200
- AJEA 2,000,000 x12& 24,000
O4. X & A& eHH| 24,758
-2 2 XS X 3,294 ,000& = 1CH 3,294
-2 AR 4,636,000& *3CH 13,908
-SHAAL=ST 3,338,000& «1CH 3,338
-NESEXt 4,218,000 =1 CH 4,218
03 A2 H H| 3,000 0 3,000
oo Y s#A2H 3,000,000& 3,000
202 04 d| 8,760 8,760 0
01 2L Y| 8,760 8,760 0
OBAHdE HRF=AHHI
60,0003 *8YH 3 x53] 7,200
O2s2Ho WEA0H 60,000& x5 2 720
OBAHAXA DNEAMNH| 60,000 *7H *23] 840
203 PR =&lY| 4,860 5,400 AN 540
03 A=A SR =AH| 4,860 5,400 A B40
OBH#HE HRE=XH| 4,860,000 4,860
301 YU B A 3,696 5,544 A 1,848
0B A E2RIAL A= 3,696 5,544 A 1,848
OAZEL22A SAH 7,000& x2H 222 x12& 3,696
405 XHo&HF S HI 9,450 1,200 8,250
01 JHMY 2 E F S H 9,450 1,200 8,250
HSZJ|(MEBEAHXA) 2,500,000& = 1CH 2,500
OFAMIN(ENEBAHX A) 300,000& = 1CH 300
O0lsAl 2EJ|(JI2AHXA) 350,000 1CH 350
ONHYII(EHNEAHAXA) 700,000 1 CH 700
OIPHEEIII(BEAXA) 350,000& = 10CH 3,500
OLZE POEAE LA 2,100,000 2,100
SBAOAZAIE L EZ 22 228,245 176,703 51,542
201 et A | 163,905 155,363 8,542
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01 At 22l 97,310 86,920 10,390
O1.det=2Hl 97,310
-f0&H 922 25,800
JAUEAHEH 250,000& »12& 3,000
AKX L 100, 000& 7 2+ 12& 8,400
EAdS A 100,000 1200 A+ 12& 14,400
- EFEAL: =3 1,650
EAX L 150,000 7K & 1,050
EAXZ A 50,000 »120H 2 600
-SYHANA 22 (BHL  BAXLA BAHA
=) 3,000,000& »23] 6,000
~SYINAFFY 242
180,000 200 A+ 123 4,320
-2t g RUNES(SREHA EHOIX)
200,000& 128 2,400
-HULAEFEY =2 1,500, 000& *23| 3,000
-dDjetE 2| e =8 12,360
44 330,000& 122 3,960
SEAX L 90,0003 *7H 2128 7,560
EAdZ A 70,0003 1204 A %13] 840
—SEU2REQANAY EAx2
27,0003 x200H 2+ 122 6,480
-GS0IEANE SBINEZA =2
1,000, 000& *13] 1,000
-E22a IMEL E9eFR
2,000,000& x12& 24,000
“E A HIE 2 A A Y 10,300
BAN(3,942m) 5,500,000 5,500
BAXN L (EH, =&, "o, Il H)
1,200,000 *4H 2~ 4,800
02 =224l 66,595 68,443 A 1,848
O2.49=dl 17,556
-22d 1, 1003 x 120 «7 Al 2t+28 7K 2 12,936
-227| 1,100& x 120 54 +7CH 4,620
O3. A€ ZHI =Xt 49,039
—HAD1D1 |RXE ==t 2,000,000& 2,000
-22A4 IPE RSB 500,000& x12& 6,000
-2 &H |RXE=H 2,000,000& 2,000
-BHA 22EZ Y & £ 5,000,000 5,000
SBA(K) A Wue HH S AIEE =44
2,000,000& «8IH & 16,000
-A =KXl 18,039
AN 3,2483 x3,443m’ 11,183
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SARX(E0H,I1H) 2, 7173 %946 m’ 2,571
CEAXA (MY HEH, S BE,IIS)
2,086& x1,555m 3,244
206 = Hl 1,340 1,340 0
01 M2 4l 1,340 1,340 0
OxZ+== is2H AN 700
- = A 6,000& x10 «53] 300
—& 2 Xl 8,000& x10& #53| 400
OxZd=+== & dUAMES H=z7E
8,000& x40 +23| 640
401 AIEHI L 20HYI 63,000 20,000 43,000
01 A& Hl 63,000 20,000 43,000
OEdA FAMU -2 SHEIA
50,000,000& =14 50,000
OB2dAa Y7 e E=ZA
8,000,000& x 14 8,000
OEHEAN L F2 L FUE VY2 2432
A 5,000,000& » 14! 5,000
d=2He A 153,000 153,000 0
307 21201 A 153,000 153,000 0
01 2724l 153,000 153,000 0
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-E (M, S FE,0I=2)
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O3.2g8=¢ 4,320




2N 2ETRAL BAFHMD
Ha: X APAC R A (/B A R)
CEEEE P kL] CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
29823 g3+ 30,000 *12H x+123 4,320
O5. =2 &l 4,032
-EAHAE A PRI AAAZET S A
7,000 #42 1204 A +123 4,032
O6.29xt =z 910
—ASEATSZ A A YXt 70,000& +x12& 840
-EEBANEA YR IR RS
70,000& x13] 70
02 =224l 67,270 71,614 AN4,344
O1.332=LHA 32,040
-4oteE A= 10,0003 1200 A+ 123 1,440
-HIIe3 100,000& 1200 A+ 123 14,400
—AOIEIIR3(4=2) 150,000 10 A«122 1,800
-3 50,0003 1200 2« 128 7,200
—QIHUAIER 3 30,000 1200 & x128 4,320
—REEsERs 20,0003 1200 2128 2,880
O2.¢9 =l 20,328
-2 1,100 x 120 7 Al 2t%28 * 1100 & 20,328
O3. A€ ZHI =Xt 14,902
-2 &H |RXE=H 300,000 »120H 2 3,600
-2AHAE A HUHEEH S AEE =48]
600,000& »120H A& 7,200
k-t DNRT Sl il 4,102
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OrZootE g 350,000 * 120} 2 *122 50,400
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NAE2H ALY (BA/B2HAAT)

=L E
chel: o2 X (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Al 416,995
A2 2 ALY 80,377 48,125 32,252
101 2124 d| 33,789 15,525 18,264
04 JIZtHI22XNSE S 33,789 15,525 18,264
OQetAbA &l 14,555
-Jl23 57,5003 1 »20 x9& 10,350
=54 57,500& x 12 383 2,185
S PN S~ E=AP] ECy = 57,500 *1¥ 9 518
AEE 222 13,053,000& *x11.5% 1,502
Oflg & A& ALA 19,234
23 57 ,500& »4H 20 x3& 13,800
-5 57 ,500& x4 %12 2,760
AR asEFIIY 57,500 *4H 3 690
-AEE J|&a8g=3 17,250,000& *11.5% 1,984
201 2ok Y| 25,728 22,100 3,628
01 At 22l ] 15,428 11,800 3,628
O1.28t=2H| 12,040
-0l A dbBk~ZH| 1,900, 000& 1,900
—OIAANA S ME 1,000& *3Z 70004 2,100
-0IAA TeH ARE 2
300, 0003 *x3CH *23| 1,800
-0IRAA JlEYZ 2 120,000& ~12& 1,440
-22lX 24 B2 S NE 400,000 x12& 4,800
O4.101 24| 700
-GANE A Ol E I 2 35,000& x20& 700
O5.= &t 2,688
OIS XNILR AAAZ 2N 24!
7,000 x4 8L x12& 2,688
02 3524l 10,300 10,300 0
O3. A& &Hl = Xibl 10,300
-2 &Hl | 224l 2,500,000& 2,500
-CI RN EYAAD] A2 2H| 3,000,000& 3,000
~GAIE A S 2EHANMES |22
400,000& x12& 4,800
202 044l 2,160 0 2,160
01 2L Y| 2,160 0 2,160
Oz XNd YFRF& |
60,0003 *4H 32 x33] 2,160
307 QI2t01 & 16,500 10,500 6,000
01 2L PR =H| 16,500 10,500 6,000
Oolaa MeEd L XN L3S K
25,000& 1008+ A 2,500
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SN HH-S(BN) - MBAY - B il HlnE2
Oscizd %8 o 208 79
50,000& x105 *43| 2,000
Ot E2dA 88 45 & 225 F#
100,000& 208 2,000
OBYRD %E L 42E 7
100, 000& x20& 23| 4,000
OYALE o=z 1,000& x6,000H 6,000
405 TtatF S| 2,200 0 2,200
01 AL EFFHSH 2,200 0 2,200
@)= 3=3-19] 1,000, 000& = 1CH 1,000
OoZA 2ME HEIR 200,000& *5H 1,000
OMEE 2 Xt 200,000 =14 200
2L EAHAMY 46,309 42,862 3,447
101 @124l 27,249 20,302 6,947
M4 JI12ZHZEXNSES 27,249 20,302 6,947
OFUXNY & FABHAHSZ (ZO0HQ X DA
Z) 14,426
-Jl2=a 57,5003 *3F x20 «3& 10,350
=5 57,5002 x3Y 12 2,070
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2+A 2,000& x15H x4 «8E 960
307 glz2tol & 18,100 19,100 21,000
01 2=2L =4l 18,100 19,100 A 1,000
OFMHIXIW Agtsd; & A2F 7Y
95,000& x10& *23] 1,900
OFAAE & XNAOtSHEH MPAE =25 +
2 100,000& *10& *43| 4,000
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X{ XH -
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ANAEHAZ A

Sel: AR X EERED
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
Al 326
=404 5,076,000 x11.5% 584
| 292
< 88
Al 204
201 Let24d] 343 621 A278
| 171
< 51
Al 121
01 At 2 343 621 A278
o1.¢ 343
—UATEBE AREE 343
| 171
< 51
Al 121
301 et &t 208,458 153,760 54,698
| 104,229
< 31,268
Al 72,961
01 Atgl 2 208,458 153,760 54,698
027 208,458,000& 208,458
| 104,229
< 31,268
Al 72,961
28X 2l 24| FXHSl 2 HI K& 262,998 263,000 A2
AR )< x>
| 131,499
< 39,450
Al 92,049
301 LBt A& 262,998 263,000 A2
| 131,499
< 39,450
Al 92,049
01 A3 E 262,998 263,000 A2
OgeX 262,998,000 262,998
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Al 85,017
01 At3l 2 242,908 195,740 47,168
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Al 85,017
MM RAH<E X> 9,000 9,000 0
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01 Al E & A 452 9,000 9,000 0
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